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Part | {30 Marks)

For each question from 1 to 15, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3ord4)on
- the Optical Answer Sheet.

1. Which of the following statements about cells are true?

A: A cellis a basic unit of life.

B: All living things are made up of many cells.

C: Cheek cells cannot be seen by the naked eye.

D All cells contain a nucleus, cell membrane and chloroplast.

(1) AandConly (2) B and D only
(3) A, BandConly (4) A, B,CandD

2. The diagram below shows a celf and some of its cell structures.

® é 5 6 @5 o
<

D

Which part of the cell is its function correctly described?

(1) Part B controts all activities in the cell.

(2) Part D has green pigment chlorophyll to help make food.

(3) Part Akeeps the cell firm which helps the plant to-stand upright.
(4) Part C allows only ce[jain substances to-enter and leave the cell.
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3. Study the flowchart below.

Contains
chloroplast?

Which of the following classification is correct?

P Q 'R
(1) { cheekcell | ‘leaf cé!l rodt cell
) | rootcel cheek cell teaf cell
P oA O
(3) | cheekcell root cell leaf cell
(4) roof celi cheek cell ieaf cell
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4. The diagram below shows the cross section of a stem.

Which substances are transported by parts A and B of the stem respectively?

A B
1) Fdod Water and dissolved mineral salts
) Water and dissolved mineral salts Food
) Food and carbon dioxide ‘ Water and oxygen
4) Water and oxygen Food and carbon dioxide

5. Study the diagram below.

T

Roots Green leaf

Which of the following cofrectly represents S and T?

S . T
(1) Water-carrying tube Water-carrying tube
(2) Food-carrying tube Watér—parrying tube
(3) Water-carrying tube . Food-carrying tube
(4) Food-carrying tube Food-carrying tube
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A small plant is put into a beaker of red-coloured water. After a day, it was
observed that the plant.-had turned red. What does this show?

A The stem carmies the water to other parts of the plant.

B The water from the roots is carried all the way to the leaves.

C The water-carrying tubes are present in the roots, stem and leaves.

D The leaves are making food and transporting it to other parts of the plant

(1) AandB ) CandD
(3) A BandC 4 A B, CandD

Why did the plant shown in the diagram below died after four days?

(1) The roots cannot take in water

(2) The leaves cannot trap the sunlight to make food.

(3) The stem cannot hold the plant firmly to the ground.

{(4) The stem cannot transport the water from the roots to other parts of the
plant.
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Janice prepared an experiment with a flowering plant in four different set-ups
containing water as shown in the table below.

SetUp Location of flowering | Presence of |  Temperature of
plant roots water
Sef-up T In Sunlight Present . 30°C
Set-up U In Suniight Absent 30°C
Set-up V In a dark cupboard Present 30°C
Set-up W In a dark cupboard Absent 30°C

What isfare the possible aims of her experiment?

A: To find out if the location of the flowering plant will affect the amount of
water taken in.

B: To find out if the presence of roots will affect the amount of water
taken in.

C: To find out if the temperature of water will affect the amount of water
taken in.

(1) A only (2) B only
(3) A and B only (4) A, B and C only.
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Read the following and answer questions 9 and 10.

Jerome wanted to find out if the preSence of roots would affect the af'nount of water
absorbed by a plant.

stopper stopper
layer of oil = layer of oil
water water

Set-Up B Set-UpC

He recorded the amount of water in each set-up for five days. Based on the results,
he plotted a line graph to represent his findings.

9. Which of the fo[lowing graph is likely to represent the result of the experiment?

(1) A 5 (2) A
Amount of C Amount of
water leftin]. water left in
flask | flask
C
Timefday Time/day
() A G
F 3
Am" tﬁ‘f JENSRSEL B -
¢ oulnﬂo_ azzamTmT T ; ' Amount of ]
wa :r ?( m\ < . water left in
as flask
Time/day

Time/day

10.-  What could Jerome conclude from his experiment?

(1) The plant with roots took in less water.

(2) Water is transported through the stem.

(3) The plant with roots took in more water.

(4) Roots anchor the plants firmly to the ground.
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Four pupils each made a statement about the functions of various human
body systems.

Annie; 1t supports the body.

Bala: |t gives out carbon dioxide.

Cody: It protects the delicate organs in the body

David: It ransports waste materials away from different parts of the body.

Which ftwo pupils have made statements about the same human system?.
(1) Annie and Bala
(2) Annie and Cody

(3) Bala and David
(4) Cody and David

The flowchart below describes the functions of different parts of a plant.

Start
Does it absorb water? Yes ;@
No
h 4 :
Does it support the plant? Yes >®
‘No

NE
Which part of the following represents plant parts A;8-and £7?
, : -Part D PartE Part F
(1) 1e8Reots- ~ [OO0Wecaves Stem
(2 Leaves ‘Stem Roots
(3) Roots lLeaves Stem
(4) Roots Stem Leaves.
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Sheryl grew two pots of balsam plants. Sheryl wanted to find out how the type
of soil would affect the growth of the plants. She felt that there were other

variables in her set-

up that could affect the growth of the plants.

Which of the following variables is classified-correctly?

(1)

(2)

(3)

(4)

Variable(s) that must be kept the
same

Variable(s) that can be changed

Type of solil

' Location of plants

Amount of water

Variable(s) that must be kept the
same

Variable(s) that can be changed

Amount of soil

Location of plants

Amount of water

Type of soil

Variable(s) that must be kept the
same

Variable(s) that can be changed

Amount of soil

Type of soil

Amount of water

Va;iable(s) that must be kept the
!

same

Variable(s) that can be-changed

Type of solil

Location of plants

Am_ount of sail
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14. Jane recprded some observations of mushroom and fern in a table as shown

below.
Characteristics Mushroom | Bird Nest
_ ~_Femn
W | Is it able to bear fruits? No No
X | Does if make its own food? No Yes
Y |Is it able to respond to changes? Yes No
Z {Does it need sunlight to grow well? Yes Yes

However, Jane's teacher told her that only some of her recordings were
correct. Which of the above characteristics were correctly recorded?

(1) Wand X only
(2) WandY only
(3) XandY only
(4) YandZonly
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15. The classification chart below shows the characteristics of 4 plants
J, K, Land M.

Plants
!

I |

Flowering Non-8owering

| 1 [ ]

Oniand Inwater On fand tnwater
| I | [
Jd K | 3 T

Another table was set up to classify the 4 plaht_s. A (¥') tick was used to
represert the.preserice of a characteristic of the plant.
Which table below shows the characteristics of plants correctly?

(1) Plant
Characteristics
J K L M
it bears fruits. v v '
It grows on land. v ' v
(2)
Plant
Characteristics
J K I M
It bears fruits. v v
ltgrowsonland. [ v v
3
3) Plant
Characteristics
' J K L M
It bears fruits. v v
it grows on land. v v
4
) Plant
Characteristics
J K L M
[t bears fruits. v R 7
it grows on land. v

10
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Part I {20 Marks)

For questions 16 to 23, write your answers in this booklet.

16. Study the cell taken from an organism below. A part of the cell has been removed.

. cell membrane

central vacuole

chloroplasts
nucleus

(a) Which part of the cell has been removed? (1)

(b) Explain what will happen to the organism if all the chloroplasts were
removed after two days. (1m)

11




17.

Rosyth School/Continual Assessment 1/Standard Science/P5/2013

Rozana wanted to study the yeast cell and bacteria cells for her Science
project. .

She placed some yeast and bacteria cells on two separate petri dishes. She
counted the number of yeast and bacteria cells under a microscope and
recorded the numbers every 4we minutes. She recorded the numbers in the
table below. Mm‘j

Time (min) 0 | 20 | 40 | 60 | 80

No.ofyeast |16 1 4o | 10 | 20 | 20

cells
No. of'bliacteria- 10 %0 40 80 140
cells _ "
(a) ldentify the organism in the graph. (1m)
160
140 .
e
120 P
. ”
100 P
Number . _ —
ofcells 60 Pl Organism;
60 | " -
40 P ,
: .7 Organism:
20._“__!"‘__..»-" 7 -1 Qrg
O i .
' 20 A0 &0 80
Time (min)

(b) Which type of cells réproduce at a faster rate?
Based on the table, give a reason for your choice. (1m)

(c) Why do single cell organisms divide? (1m)

12
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18. Dolly set up an experiment as shown below.
The base of the celery stalk in Set-up T was wrapped with a material A before

placing it into the beaker of tap water. The celery stalk in Set-up Y was also
placed in a beaker of tap water.

celery leaf

celery statk —
Material A —] tap water —"—_— ________
Setup Y
Set-up T Set-up Y
Observations Leaves were yellowish Leaves were green
and wilted _ and firm

(a) Explain why the leaves in Set-Up T turned-yellowish and wilted? (1m})

(b) Explain how-ywater i-fragsported in the, celery? - {1Iny

13
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19, Harris wanted to carry out an experiment on a plant. He removed the outer ring

of the stem from a plant as shown below. One week later, the stem above the
cut-out area became swollen as shown below.

After one
week

s

' K} Stem becomes
swollen after a
" week

(a) Explain why the stem above the cut out area became swollgn.  (1m)

(b) After sometime, Harris observed that the roots began to Adi‘é.

- Explain why. (1m)

14
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20. Ronald placed three similar balsam plants in 3 similar jars with water.
He cut off all the leaves from the plant in jar P and some leaves from the
plant in jar G as shown in the diagram below.

balsam plant -’;

layer bf oil —¢

I water —F°

After two days, he measured the amount of water left in each beaker.
His results are shown below.

“Number of Amount of water at | Amount of water
Set-Up leaves the start of at the end of
i experiment/ml experiment/m!
P 0 500 480
Q 3 500 400
R 6 500 360
(a) What was the aim of Ronald’s experiment? {(1m}
!

(b)Fromhis results, what is the relationship between the number of leaves -
the amount of water taken in by the plant? (1m)

15
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21.  Isaac wants {o conduct an experiment to find out whether the balsam or
spinach plant takes in more water. He prepared two beakers of water and he
then placed the balsam plant and a spinach plant in each bedker. He added a
layer of oil and left the beakers for three days.

(a) Which of the following variables must they keep the same or change to
make the experiment a fair one? 2m)

Put a tick in the correct boxes.

_ Variables - Keep the same Change

{ The temperature of the water
The type of plant
The amount of water

The location of the experiment

After three days, isaac concluded that the spinach takes in more water.

(b} The water level in both beakers decreased after three days.
Why did the water level decrease? {1m)

16
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22. The diagram below shows two parts of the digestive system.

Large intestine

Small intestine

(a) What happens in the small intestine during digestion? {(1m)

(b} Jim had diarrhea and passed out watery stools. What could have happened
in his large intestine to cause the watery stoojs? (1m)

17
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23. Siti went for a learning journey to the Singapore Botanicai Gardens to study
the plants there. Her teacher told her to examine Plant S and T carefully.

Plant S Plant T

Referring to the diagrahﬁ only, identify one simitarity and one difference between
plant S and T

(a) Similarity: _ (1m)

(b) Difference: {(1m)

18



Rosyth School/Continual Assessment 1/Standard Science/ P5/2013

(c) Siti made other observations of the plants she saw and recorded them in the
table below.

No. . ' | Description : - Letter

A plant that reproduces by spores.

Chrysanthemum is used for brewing tea.

Duckweed has roots just below the water surface.

The pohg pong fruit is used as rat poison as itis
poisonous.

el IR A R

Using the flow chart, which letter best represents the things listed below. {2m)

Start o Does it live on land? No »{ : )
_ Yes
. No
Is it a flowering plant?
Yes
No
Are the plant parts % : )
edible?
Yes

End of Paper
p

19




EXAM PAPER 2013
SCHOOL : ROSYTH
SUBJECT : PRIMARY 5 SCIENCE

TERM i CA1

Q1 | Q2| Q31Q4][Q5]Q6]Q7 Q8] Q% [Q10][Qil[012][Q13]014] 015
1 4 3 2 2 3 4 3 4 3 2 4 3 i 2

16)a)Cell wall.
b)Without the chloroplast, the plant will not be able to trap sunlight.

17)a)bateria cell
Yeast cell
b)Bateria cell, the number of yeast cells doubled after sixty minutes.

¢)To reproduce move cells to be extinct.

18)a)Material A did not allow water to pass through thus the celery was
notable to take in water causing the leaves to turn yellow and wilt.

b)Water is absorbed and passes through the water-carrying ttbe to the
stem. The water carrying tubes in t?e stem transports to the leaves.

19)a)The leaf can’t transport the food to the roots.
b)The root can‘t receive the food from the leaves dying out of food.

20)a)To find out number will affect the amount of water absorbed by the plant.

b)As the number of leaves increases, the amount of water taken in by plant
increase.

Page1to2 page 1



21)a) ¥

J
v .
b)As the plant roots took in the water for the plant to survive.

22)a)Digestion completed and digested food is absorbed through the blood
vessels.
b)The large intestine did not absorb enough water from the undigested

food.

23)a)Both are flowering plant.
b)Plant S have strong stem while plant T has weak stem.
c)1)B
2)D
3)A
4)C
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